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The figures in the margin indicate full marks
for the questions

1. Answer any ten from the following questions :
1x10=10
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(a) Who was the first economist to have
coined the term ‘macroeconomics’?
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(b) What is meant by depreciation cost?
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() What is liquidity preference?
o o 7
() Define ‘open market operations" as a
tool of monetary policy.
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(2)

Distinguish between intermediate goods
and final goods.
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Give one example of transfer payment.
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Define gross domestic product.
T T4 Beofe igE o o

What is velocity of circulation of money?
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What is money supply?
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How does credit creation affect money
supply?
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Answer any five from the following
questions : '

(3)

Distinguish  between  demand-pull
inflation and cost-push inflation.
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Which country is facing ‘hyperinflation’
recently?
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Mention Say’s law of market.
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State one essential condition of
Keynesian income determination.
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In which case is LM curve horizontal?

¥ ovge LM cxgrom spfiie W2
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(a)

Distinguish between real GDP and

" nominal GDP.
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(6)
. . g Explain the process of circular flow of
Y sigr?iﬁc;Snce %Iﬂd:nt};n;:ap? ;E;?cplam its income. In what ways do international
ary polcy. transactions affect this flow within a
O T [ 2 Pl s TR w9 T 9 | closed economy? 7+3=10
, | oY SEW oATRd AfFERGl M TN FR
(g) Explain the causes for the shift of the IS | AT TEHT SMH-2M €X oS
and LM curves. | T SIS T 2
IS W% LM (31 7o/ FHefie RN FRPIR |
740 391 | A (d) Critically explain the cas‘h transaction
approach to the quantity theory of
(h) What is fiscal multiplier? What factors - money. o
affect fiscal multiplier? WA oty w@w  am  RREEw ]
TR @ 7 TP @R Aome | LTS T |
41 Soreez R 5 2 | (e) Compare and contrast between cash
, transaction and cash balance approach
Answer any four from the following to the quantity theory of money. Which
questions : ” 10x4=40 one is superior? Give reasons. 7+3=10
T AT R I BRI Teg faa ‘ wqﬁmqmawgﬁ_ﬁi?{mﬂ?{-mw
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(a) Explain the various basic issues studied R @ e 7 IS frani
in macroeconomics.
s YRS WEA T Pl Rwprgz ey () Explain the various tools of monetary
I policy. Which one is appropriate to the
" developing countries? Give reasons. 8+2=10
(b) Discuss the process of national income T A Rfew SRR I F1 R
accounting in an open economy. e SEEE P I 3«4{@7 IR
Pl SR AR T e R —. e |
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(g) Define inflation. Explain social costs of

inflation. 3+7=10
W ke 1 Rt TiRe
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(h) Evaluate the Keynesian model of income
determination.
R o PR fEGR JoE 4 |

(i) Compare the classical and Keynesian
models of income determination and
point out the fundamental differences
between the two.
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(i Derive IS and LM curves. Explain their
properties. 6+4=10
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